Proposal



Submitted Too:

Petticoat-Schmitt Civil Contractors

6380 Philips Highway

Date:

October 4, 2013

Jacksonville, FL 32207

Job Location:

OE&S Building 1524 San Marco Blvd. Jacksonville, Florida 32207 Phone:

Wk: (904) 751-0888

Cell: (904)

We herby submit specifications and estimates to:

Repair damaged/uncovered wall area of stucco on front of building:

- Remove and replace
 - a. Loose and/or fractured edges of stucco along sidewalk
 - b. Match texture of existing stucco veneer
- Paint repaired areas to match existing exterior color
- Removal and proper disposal all building debris and waste

Subcontractor (s)5Cost plus 20	percent
 Any additional materials required due to unforeseen conditions wi materials plus 20 percent 	II be invoiced at a rate of the cost of the
All material is guaranteed to be as specified. All work is to be completed in a workmanlike m from the above specifications involving extra costs will be executed only upon written orders the estimate. All agreements are contingent to strikes, accidents. Acts of God or delays beyon Worker's Compensation Insurance. This proposal may be withdrawn if not accepted within	and will be completed at an extra charge over and above dour control. All workers are covered by applicable
We propose to furnish labor and materials in accordance with the preceding specific	eations, for the sum of:
One thousand, one hundred and seventy	<u>d</u> ollars (\$1,170.00)
Authorized Signature: Marth of January	Date: 10/4/13
Acceptance of Proposal — The above prices, specifications and conditions are s access to the job site will be provided. You are authorized to perform the specified above.	
Signature:	Date:

1) Any additional work required due to unforeseen conditions which include but are not limited to wood

Carpenter.....\$50.00 per hour Carpenters helper......\$30.00 per hour

destroying organisms, substandard building materials and/or methods will be invoiced at the following rates:

PETTICOAT-SCHMITT CIVIL CONTRACTORS, INC.

PROJECT:

CUSTOMER:

SAN MARCO STREETSCAPE CITY OF JACKSONVILLE

COJ CONTRACT #:

PETTICOAT-SCHMITT JOB #:

9281-05 10002

DESCRIPTION OF WORK:

REMOVE HEADER CURB @ FIREHOUSE DRIVEWAY

COR #:

DATE:

08/12/13

LABOR	QUANT	UNIT	COST	TOTAL COST
SCOTT MASON	2	HRS	\$12.50	\$25.00
JAMES FRAZIER	2	HRS	\$11.00	\$22.00
DAY LABORERS	4	HRS	\$11.50	\$46.00
PAUL PRICE	2	HRS	\$27.50	\$55.00
		HRS		\$0.00

SUBTOTAL LABOR:

\$148.00

LABOR BURDEN (45%):

\$66.60 \$32.19

MARKUP (15%):

TOTAL LABOR:

\$246.79

EQUIPMENT				
SAW5,TAMPS,MISC	2	HRS	\$25.00	\$50.00
LOADER	2	HRS	\$61.00	\$122.00
FOREMAN PICKUP	2	HRS	\$9.40	\$18.80
				\$0.00
				\$0.00
				\$0.00

SUBTOTAL EQUIPMENT:

\$190.80 \$13.36

SALES TAX (7%) **MARKUP (15%)**

\$30.62

TOTAL EQUIPMENT:

\$234.78

MATERIAL		
		\$0.00
		\$0.00
		A

SUBTOTAL MATERIAL: SALES TAX (7%) \$0.00 \$0.00

MARKUP (15%)

\$0.00

TOTAL MATERIAL:

\$0.00

SUBCONTRACTOR		
		\$0.00

SUBTOTAL SUBCONTRACTOR:

\$0.00

MARKUP (10%)

\$0.00

TOTAL SUBCONTRACTOR:

\$0.00

SUMMARY		_
LABOR	\$246.79	
EQUIPMENT	\$234.78	
MATERIAL	\$0.00	
SUBCONTRACT	\$0.00	
TOTAL COST	\$481.57	

CORMITI

PROJECT:	SAN MAI	70	·	,	DATE	8-	12-13	_
CHARGE TO:	C.O.J.	·				•		
WORK DESCRIPTION:	Removed	8' of	header	Cu	rb and 5 sy of	Side	walk	at
WORK DESCRIPTION: Firchouse drive They Said it was	way, Buil	t per C	Dlan, b	y+	City WARTED	Lèade	(cm	ومحر
They Said it was	s a trip	hazard			,			
LABOR					EQUIPMENT			
EMPLOYEE	CLASS ST	RS RATE	TOTAL		DESCRIPTION	HOURS	RATE	AMOU
Scott Mason	oper. Z				Forman Truck	2		
Day Laborers XZ	Laborer 7				Jack bammer 0952 Miscellaneous, Tools	7		
Pay Laborers XZ	Ferena Z				324 JD loader	Z		
	 					<u> </u>		 -
								
				-				
				_				<u></u> -
	MATERIALS & OTI	HER ITEMS						
OUANTETT (T	DE00010				UNIT	AMOUNT	}
QUANTITY	<u> </u>	DESCRIPT	ION			PRICE	AMOUNT	Í
						<u> </u>		
PREPARED BY:				1	NSPECTOR:	/ ^		
1/1-1-6					1920 V	While	5	